Floor standing enclosures
Mild steel IP protected ICT Rack

MOUNTING INSTRUCTIONS

7697-0501-68 REV.0

ELDON



EL1DONn

O

Roofplate

Rear door

19" profiles

Bottom plate




EL1DONn

O

6/7

16/17

MCM

4/5

10

13/14/15




EL1DONn

O

MCI

\ONLY 220XX




EL1DONn

O

175

1100

1400 | 325

1600 425

1800 | 525

2000 | 625

2200 | 725

COMBINABLE ENCLOSURE

SW13

SW10

T30

Rear door




EL1DONn

O

SW3

Metal Guider

e

N,
|4
=%

==




EL1DONn

O

MOUNTING THE LIFT HANDLE

—_—
e ——
= =\

QQQQQQQ

SW3




EIDOn

O

Standard Locking System Lift Handle Locking System

Your Text / Trademark Here Your Text / Trademark Here

Your Text / Trademark Here




Standard Locking System

| _ |
oo




Torque
15-20 Nm

1

Roof panel

Ref.|  Pio. | D 1<800>800
A | @ M6x12 2 | 4
B %mezo 4 | 4
c M12 4 | 4




EL1DONn

O

\Torque
8-10 Nm

2l s | < | < | <

(o4
S8
X | x| 9| 9

;1 ©| 6| = | =

g1 =] =
,@(a
PSS

5| <

7p]

Q

U

o

| -

o

(@))

—

CiB

T30

® | [

Torque
8-10 Nm

10




EIDOn

O

4

5/7/10/14

Pic.

M5x10

Ref.

A @St. 5.5x10|6/8/12/16

Bottom plate

T25

=

A

1"




EL1DONn

O

S P M Ref. Pic.

Y
T30 A M6x12 o

M6x16|6/8/9

@Mﬁ 6/8/9
M -

12



EL1DONn

O

6
12
6

Pic.

2
e
Z

Ref.

A | Q@ mexi2| &
\E
e
§

| CCl 06

Gasket placement on top frame.

El

c

5 {

o

©

o

2 S\ \S
=

m o/ Jel Jol Je
£

(0]

14

IS —

T30

13




EL1DONn

O

@

* : Ref. Pic. Qty.
T30 SW19 a
A %me% 4

®

,Torque
15-20 Nm

/©
©

ﬂ LE 9304

Torque =

15-20 Nm

14



EL1DONn

O

Pic.

Ref.

CCM 04

H2

MOUNTING

Note: It is mandatory for all four brackets to be installed at all four corners !
* The fixation holes can be used to better fix the bracket to the frame,using cage nuts and screws !

15




EL1DONn

O
» / DHN 180 Ref.|  Pic.
= ! A | @ mex12

.

Y2 [y 2 Iy 2 [y 2 A=Y @,

16




| ) J\
iy
@@@ A@@

DHN 180
DOOR ADJUSTMENT

ASJe AS]e AS]o AS]e AS]eAS)

Al

SW3

ELDONn
O

T30

17




EIDOn

O

SW13

Torque
10-15 Nm

£
o Z
310
=
=2

18




EIDOn

O

19




EL1DONn

O

10200N

LE 9304 i LE 9304

~ &
IE ) |E )
g ' g
| C!
CCE/CG ¥ GCE/G
CGM p . oM DIN 580

27000N

20



EIDOn

O

Mousepad RH into LH

21




	cover
	MCI MI_V0
	MCI MI_V0 cover
	MCI MI_V0 index
	MCI MI_V0 pg.1
	MCI MI_V0 pg.3
	MCI MI_V0 pg.4
	MCI MI_V0 pg.5
	MCI MI_V0 pg.6
	MCI MI_V0 pg.7
	MCI MI_V0 pg.8
	MCI MI_V0 pg.9
	MCI MI_V0 pg.10
	MCI MI_V0 pg.11
	MCI MI_V0 pg.12
	MCI MI_V0 pg.13
	MCI MI_V0 pg.14
	MCI MI_V0 pg.15
	MCI MI_V0 pg.16
	MCI MI_V0 pg.17
	MCI MI_V0 pg.18
	MCI MI_V0 pg.19
	MCI MI_V0 pg.20

	Blank Page



